[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
$0.07
3]
£0.06
0.05,
0.04
0.03

0.02

.................................................

................................................

-

iy
|_|_|.’|_%_|.| ™T ||||||||q.||||!l|||J|||||||||||||||||||||||||||||

0.01

n T T ST

o +W -

= :

T 1 4

a4 . -+ ha
o 42t 20 s 1 I [ ) 3 R 6 G

&

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT_ MODIFIED_propToPlane_PRVersionFINAL2

%8307 20 -10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
Q.0.09F
S
% 0.08
£0.07F
3
c0.06F
Q
o
£ 0.05F
3]
0.04F
0.03F
0.02

0.0

&

D
TTTTITTT

Ratio
N

o
©
al

o
©
TTTT

|
N

Sim. PV z (cm)



	Contents
	Page 1


